es-only-sender!!4°

only k(v):B sends [tg,f(s;v)] : T on I
=4et (Ve:E.
(loc(e) = source(l))
= (kind(e) = k)
= (Fe":E. ((kind(e’) = rcv(l,tg)) cA (sender(e’) = e))))
& (Ve':E.
(kind(e") = rev(l,tg))
= ((kind(sender(e)) =
cA (valtype(sender(e’
cA (valtype(e’) Cr T)
cA (val(e’) = f((state when sender(e’));val(sender(e’)))
& (Ve':E.
(kind(e”) = rev(l,tg)) = (sender(e”) = sender(e’)) = (e” = ¢)))))

k)
) Cr B)

clarification:

es-only-sender(es; k; B; I; tg; T; s,v.f(s;v))
=qet (Ve:es-E(es).
(es-loc(es; €) = source(l) € Id)
= (es-kind(es; e) = k € Knd)
= (Je’:es-E(es)
((es-kind(es; €') = rev(l,tg) € Knd) cA (es-sender(es; €') = e € es-E(es)))))
& (Ve':es-E(es).
(es-kind(es; €’) = rev(l,tg) € Knd)
= ((es-kind(es; es-sender(es; €¢’)) = k € Knd)
cA (es-valtype(es; es-sender(es; e’)) Cr B)
cA (es-valtype(es; ¢') Cr T)
cA (es-val(es; €')
f(es-state-when(es;es-sender(es; €’));es-val(es; es-sender(es; €’)))
eT
& (Ve':es-E(es).
(es-kind(es; €”) = rev(l,tg) € Knd)
= (es-sender(es; e”) = es-sender(es; €') € es-E(es))
= (e = ¢’ € es-E(es))))))
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